SKDC(M)¥ % 5785/095%F

?lplﬁh%fﬁﬁi%

E‘l?.lﬁ&%%’jh‘ﬁfbﬁ %‘E'lll.ﬂ BT
IE lp ﬁﬂ*ﬁff(ﬂ)}ﬁﬁ: KRR G
OJ“?“*F Ef ¢ bl ey 2 el Ji R

=007z~ OF % [ fi B & § B POt

2. B EG - OO JeZ o OQF BRI 0 BZZ OO JuF K
SR e PR R R ‘F?bawmﬁ@ﬂ6%6&6w’ﬁ
B G AT 15 24,7577 0 VL F A 85 51,8007 ¢ JFES A F1R A H 951,439
R H L S AT 55 38,0507 0 L FAEE0A ?Hﬁ#ﬁﬁ%“ﬁ%@&u%
H1,418,2817 » W EFL Hi AT 1520,775.37 » L AT OR 5 R IR
PHLE B H1 55 4 557,984 o B0 BR Y B RUAE K5 55,403,470 0 Y HEE L0
;4; PR R 0 B H 577,4607 » W BEY S AT KL 1,7507 0 Y H
RO « B2 OO =& I A 2 A Jo bk R R
7,974,185.857 -

FrRPHET B2 OO]uF 57— 1

[SKDC(FAC)W [F 5739/09%K]

3] [ B2 T (R RS S OO 71
E[%ﬁ ’ F]‘—FUZJMFJ E[J}_FI :

Lyl

(1) Frp B 2 S300w E P
@>ﬂ?@%ﬁ3ﬁ%ﬁ“ﬁﬁﬁ”

(3) i ; ﬁfjﬁ“ﬁ’*ﬁf‘ FAE

(4) F[;[Eﬁ&%ﬁ“‘ o fifs

(5) P :F’f} HIE HI

%¢W%E%ﬁﬁﬁwﬁﬁ%ﬁﬁ300#363wg%¥%ﬁﬁﬁW%
[SKDC(FAC)¥ [ 40/09%%]

llé'“".' FHB[SKDC(FAC)¥ [ 42/09%%]

4, TR E IR R OO e E - OF & H L ABFHF I -
Fl G R AT K 1,130,485.4 7 o I RO AL 310D 0 R A
697,272.47 & S F HEHE TG JOUFEOHIGEH O o FIGHRAEH 13,4407 5 2R
5"5‘%@%’&’%&Qﬁ"%ﬁ’lﬁﬂiﬁ%iﬂ8|'}3 ’ H[ﬁ%ﬁ%’ﬁﬁ\319,773i °




5.

00t~ OF @EU?EE%’R’H'% ’ l?f‘lﬁi/[[‘ :

BZ T OO 4 A = [ PG A H 1360 B

o %%f'fJFl'ﬁ?? f%’?!‘?%ﬁfiﬂ‘ T‘%?ﬁéf'g ?WF'IE'UFI'F% “HEEREEGY)
Het! el | FIGRECE Het!
1) Xb-BER
FE4E EE) 68 66 1 1| 871,809.25
(2) EHEHR 5 5 0 0| 1,354,315.00
() BV EZHE
)] 4 4 0 0 62,840.00
(4) HEEBHFEH
50
_______ @&ceff | o 0o o 0 000
(b) fEEI T R
L ERR
____________ e 22 .0 0] 51551000
_______ ©neg | o o o o0 000
_______ Fpisr | 2 2f 0 0] 80523500
_______ A R#= | o o o 0 000
_______ () MefSke | o o 0 0/ 5000000
,,,,,,, @#Epe%zZs | o o 0 0 000
,,,,,,, (h) FikiEgy | 10/ 10 O] 0] 97,400.00
(i) HHEEKE
=2 TR/
____________ ..o ..o 0o .0 000
() fEFFZ2m
MmZEEET
R/ NH 0 0 0 0 0.00
”””” Y e e
7 1 1 0 0 59,576.00
(5) E Pk 34 28 4 2| 707,444.00
(6) iR 10 10 0 0| 577,460.00
HRE 136 128 5 3]/ 5,101,589.25
[ E&:?‘%fﬁj
355 % = pF g f) 'F'A'f

SNCTe RN




